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Q-1. Choose the correct option.
I. To convert a length given in metres into Kilometres we, «-=---—coo_.__
a) multiply by 100 b) divide by 100 v divide by 1000 d) multiply by 10
2. Which is the best unit to measure the length of notebook?
8) Millimetre A5J Centimetre ¢) Meter d) Kilometre

3. How many 50 gram turmeric packets are required to make one Kilogram?

a)l0 )20 SN0)30 d)s
4. Which one of the following is wrong?
L9160 cm=1m 6 cm b) 4 km 70 m= 4070 m
¢)1600 ml= 1L 600ml d)2009 g=2kg 9¢
S>. 1500 g = --—-—--- kg -------- g
)1 kg 500 g b)1Skg00 g c)IS0kg0g d) None of these

Q-2. Fill in the bianks.
1)3890 mL = -1, 890 1.
2)3005¢g = ——3——-kg -------- g
3) lgram = !-QQ—Q-mg
4)9km73 m= 5O m
— IR
5) lem 007
, 6)10 mm = L. ¢m
— e R
7) SQOg o kg
8)250g = --=t—-- kg -
4

| Q-3. Match the following.

| (A) (B) ; Ans:-
| 1. 15kg a. 100 cm e ©
| 2.1 mL b. 1 L 500 mL 2-d_
‘ 3.5¢ c. 15000 g 3- &
| 4.23kg20 g d. 1/1000 L 4-
| s, e. 5000 mg 500
i% 6. 1500 mL f. 23020 g 620D




Ll
Q-4. State weather following statements are true or false.
1)

I'he weight of a pen will be measured in kg.

2) The distance betwegn two cities is measured in meters.

3) Capacity of a water bottle is 7000 ml.
4) The standard unit of weight is grams and kilograms.

5) 2 grams is equal to 2000 milligrams.

6) Mili means one thousandths

Q-5. Solve the following word problems. .
1) Raju bought 7 litres of milk in the morning, 4 litres 40 millilitres at the noon and 3

. -~ . e . . 1 1 i ()
litres 850 millilitres in the evening. How much mlll_k did hg brl%'\—durmg the whole day?

MilK bouabF In the rnominﬂ = - Fo0

Milk bought at vnoon : ol 4 6 40

Mi Lk bou<jh+ in the evening _ B 50

Milk he bought olqzrl'nj the. 4 m 290
Whele dO\/

. ' whole day.
Ans.  He bought 4 L 290 ml milk olmrmj +he Who y

2) There are 65 balls in a basket. Each ball has a mass of 110 g. The mass of the empty
basket is 800 g. What is the total mass of the basket with 65 balls?

Total no. of balls = ¢5 mass of emphy baskeb = 37
Mass of | ball = 116 ¢ The total mass of the basket with
Mass of g5 balls = o g x65 65 balls = 7150 oL i
oo TERGL o eoe ?f

i @5 5 d 7G50
O < .
é;]é, 50 Ans. "The total mass of the baskeb with 66 balls #5795 4
3) Mr Rao weighs, 86 kg 350 g, Mrs Rao weighs 62 kg 830 g and their son weighs 54 kg
330 g.
é a. What is the total sum of their weights?
J " b. How much more d%es Mrs. Rao weigh than her son?
. : B -
- Naahk ODC Mr-Réo = ®‘5§ (gcgo Dfﬁﬁexenc&’bejgjeeﬂ Mys. Rao
. w@}ab{; ofMis'Rdo = ¢2 B30 and hew &ons -
i g3ty Cossly T Gl el weightof Mvs-Rao = 5py12 30
| '~ e AL Ihk e Son
- Total weight weight of Son . _ sy 330
S, i Difkerence. = 0% 500
 Totad of ’rhejruﬁnahls =z 203 k@ 5103' _ ' b
MS. Mg, Rao weigb Qk} 500 4

move thah her %on. -
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1—\() Do as directed.

e

3)Add: 113 kg 752 g and 786 kg
278 g 106 mg

S T ol ik ol
1) Add:81 m 75 em and 35 m 3 em. ’ 2) Add: 605 1,98 mL and 256 1, 902 mL.
& . dp &

ol 75 60 0q%

+ 35 6 r 156 q () DL

(ON@)
16 78 862 ©
AnS. 11ém 3¢ am A, %62 L ooomL

4) Subtract:13 kg 786 g from 34 kg 599 g.

K mg
co@%) @

Re) 7(%9_ ©00

+ 1%6 27% : o6

qgoo 030 jo6

Ans. oo kf] 303/ (06 mﬁ

"% g

34 Pgaq
wnleD 7%¢
sa XE

AnS.

20 kf& 813 ¢

S)Subtract: 511 L 435 mL from

6) Subtract:126 m 85 cm 7 mm from

8189 mL 138 m 79 cm 6 mm
L m(L 120 cm mm
ZL iz & 6
315 q’i’iz 3y Aq &
=~ ol : - 124 %5 Ei
30% 57% ol | 93 q
Ans. 306 L S5Fy mL Ang. Ilm g3 ecm g mm

1) Express in mililitres: a.7L 275 mL b.1SL 126 mL

JL-r 275 mL
L = looomL

= Jooo mL + 276 mL

1I5L 126 mL
\'L = |jvoo ML
o 15 x1000 ML+ 126 mL
= 15000 mL + 126 mL

=2cloro N 15000
| =728 mL £ 275 = VG20 gl o
F275 AeAes
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2) Express in litres and milimetres:
e “a. 6897mL. TR . SIS, o
1020)¢2q7 mL =lo00, L of tME=Tag g4 2 |000 L'Oﬁ#
' b 5 " 1805 ML= 18065 = B0G
—6000 | -+ 63q7ML = 6897 |oocoL Ul
o<6‘77T;mL PR =4 L gos mL o§0S
mL
3) Expressin grams:
a. 4 kg b. 26 kg 563 g. c. 7kg 85 g.
H’(H;’ooo% 2¢ Ko 1563 7}‘;3&‘} ‘8‘56(3
=\o
Ak({}: HXIOOOZ, lkazlooo . \ O(S;
o g || cainiocoq Hoing | TH L B
=1
= 63
20004 1560 ~ | = 10007 1"
=76563 I Y
4) Convert into centimetres:
a.7 m. b. 87 m21lcm
{M=\oo cm TM+ 21 cm
"'7m:7x1000m ‘ IMm = |eo M
Tt g7 x100m +21CM
— 700z e
- 9700 chm + 21 M
= Ceqloli] " E)ap)
5) Convert into centimetres and milimetres:
2245 mm. 4 b. 60 mm c.217 mm
9 e Mmm=e , o7 IMM=E0 'mm:_-)la(m I mm :‘—"lo—' cm
\0)245 |:.245 10 am Lo Gomm= ¢owoem - A7mm = 217 L]
/26 () L D
N3 = 24-0m 5 mm| 10¢o - 6Cm (0217 2L
Lo 60 ZELy
05 ATMm 06 mm ol7
6) Write the correct sign <,> or =in boxes: —%—;-'é_.mm

Q-7.

a. 9008 g 2 kg.

b.34 m 3400 cm.

c. 1045 mL [ ]10L

d. 10mm [ =] lem e.2050g [ =] 2050g £ 222cm 2m22.cm
Circle the best estimate.

a. Weight of watermelon 300g 30g Gk

b. The weight of textbook 10kg 10g (1kg)

¢. Amount of water in a raindrop @ 1L 10L

d. Amount of water in bucket 119 @ 100L

e. Distance between Surat and Mumbai 500m 1000cm

f. Length of table @ Scm 10mm




